Addition Facts (C)

Find each sum.

14+4= 1+1= 14+8= 241=
1+6= 1+7= 1+5= 6+1=
1+1= 1+4= 1+7= 3+1=
14+8= 142 = 149 = 5+1=
1+7= 14+8= 1+9= 1+2=
6+1= 144 = 1+1= 5+1=
143 = 14+7= 24+1= 1+8=
1+1= 4+1= 5+1= 1+6=
1+3= 1+9= 7+1= 9+1=
2+1= 1+4= 3+1= 1+5=
1+1= 6+1= 8+1= T+1=
2+1= 4+1= 1+9= 8+1=
6+1= 1+1= 541= 1+3=
14+7= 6+1= 1+5= 1+8=
1+3= 1+1= 1+9= 1+4=
142 = 5+1= 1+6= 1+2=
14+4= 14+3= 147 = 8+1=
1+1= 149 = 1+3= 9+1=
4+1= 1+1= 1+8= 1+5=
6+1= 241= T+1= 1+9=
541= 148 = 14+4= 1+1=
14+7= 1+6= 142 = 1+3=
1+9= 1+5= 1+2= 6+1=
441= 14+1= T+1= 1+3=
8+1= 9+41= 148 = 24+1=
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Addition Facts (C) Answers

14+4=5
146=7
14+1=2
14+8=9
14+7=8
6+1=7
14+3=4
14+1=2
14+3=4
2+1=3
14+1=2
2+1=3
6-+1=7
14+7=8
14+3=4
14+2=3
14+4=5
14+1=2
441=5
6+1=7
5+1=6
14+7=8
149=10
441=5
8+1=9

1+1-=2
14+7-=8
14+4-5
14+2-=3
1+8=9
14+4-5
1+7-=8
441=5
14+9=10
14+4-=5
6+1=7
441=5
1+1=2
6+1=7
1+1=2
541=6
14+3=4
149=10
1+1=2
2+41=3
1+8=9
14+6=7
14+5=6
1+1=2
9+1=10

Find each sum.

148=9
14+5=6
147=8
149=10
149=10
14+1=2
24+1=3
5+41=6
7+1=38
34+1=4
8+1=9
149=10
5+1=6
14+5=6
149=10
146=7
147=8
14+3=-4
148=9
7+1-=38
144=5
142=3
142=3
7+1-=38
148=9

2+1=3
6+1=7
3+1=4
5+1=6
14+2=3
5+1=6
14+8=9
146=7
9+1=10
14+5=6
7+1-=38
8+1=9
14+3=4
14+8=9
14+4=5
14+2=3
8+1=9
9+1=10
14+5=6
149=10
14+1=2
14+3=-4
6+1=7
14+3=-4
2+1=3
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